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Personality

angry brave careless clever

cruel funny generous hard-working

helpful kind neat nervous

patient polite quiet rude

serious shy talkative

upset waiter

Listen to the conversation between two cousins.

Parham: Reza.

Ehsan: Who is your best friend at school?

Ehsan:

Parham:

Ehsan: Is he hard-working too?

Parham:



Ehsan: How?

Parham: He always helps me with my lessons.

1

Talking about personality (1) 

Listen to the examples. Then ask and answer with a friend.

Are you hard-working?

Is he clever?

Is Zahra talkative?

Are they neat?

Are they upset?

Yes, I am.

Yes, he is.

Yes, they are.

2

Talking about personality (2) 

Listen to the examples. Then ask and answer with a friend.

He is quiet.

She is clever.

What are you like? 

What are they like? They are very kind.



Listen to the conversation and pay attention to the intonations of "affirmative" 

sentences. 

Teacher: Farzaneh is a clever student. Everybody likes her

Samira: Yes. I know. She is also very helpful.

Teacher: Well, you can ask her for help.

Samira:

Listen to the sentences below and then practice. 

3. You are very clever.

4. Everybody likes her.

6. She works for a company.

5. I do my homework.

Let me check it in the dictionary.



Ali      read      the book

to be

to be

are is ،am

to be

to be

She  is    happy.

Is she happy?

to be

not to be

She is happy

She is not happy.

Subject Pronouns

⎧⎧

⎨⎨

⎪⎪
⎪⎪⎪⎪

⎩⎩

⎪⎪
⎪⎪
⎪⎪

I 
you 
she 
he 
it 

⎧⎧

⎨⎨
⎪⎪

⎩⎩
⎪⎪

we 
you 
they 



to be

 are students.

We

You

They

a student.

amI

areYou

isShe

isHe

pen.aisIt

There are There is

There are There is There is are

1. There is 
a 

an 
one

+ + There is a book in my bag.

2. There are

two 
Three

some/many
+ + There are some books in my bag.

Find and underline "to be" verbs in the passage below.

to be

I   Mohsen. This is my classroom. There are 25 students in my class. I have a lot of

friends. My best friend is Vahid. He  a good student. He is helpful and hard-working, but 

he is not very careful. He usually forgets important things. It   a big problem.



A) Listen to the conversation and fill out the table below.

Name Personality

Zahra

great

kind

helpful

B) Listen to the audio and answer the questions below.

Iran is a  great  country. 

2. What are Iranian people like? 

Iranian people are  kind  ,  friendly  ,  hard-working  and  brave  . 

Choose the correct forms.

1. Kate  funny. 

2. There is /are a car in the street. 

3. There is/ are

4. It is /are really beautiful. 

5. Iranians is/ are  very brave. 



Fill in the blanks. (to be verbs) to be

I am Ali Rasooli. I am 14 years old. 

I go to Shahid Kazemi school. My school is beatiful.

 

There are 30 students in my class. 

My classmates are clever and friendly. 

Mr. Ahmadi is our English teacher. 

He is hard-working but he is not nervous at all. 

s very kind and patient. 

Unscramble the following sentences.

1. am/I/nervous/not/.

I am not nervous. 

3.Mina/is/careless/?

Is Mina careless? 

4. Our house/two/rooms/are/in/there/.

There are two rooms in our house. 

5. there/an/orange/table/is/on the/?

Is there an orange on the table? 



Match the sentences with the pictures.

My teacher is kind. 

The man is cruel. 

The girl is quiet. 

They are not neat. 

There is a book on the desk.



Write a sentence for each picture.

3. 2. He is hard working.1. She is angry.

6. 5. 4. 

A) Find six words related to the lesson. (Personality)

1. brave 

2. angry 

3. neat 

4. shy 

5. careless 

6. clever 

B G A C R U A E

T B N O P C L N

A R G N R L A E

C A R E L E S S

D V Y A P V E H

O E S T E E T Y

T A S A T R M I
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